TIMER CIRCUT

LAD 2 - =--- Total Rungs in File = 13
TON
0000 Timer On Delay EN De=—
Timer T4:0
Time Base 1.0 DN =
Preset 10<
Accum 10<
- START TIMER
1:0 TON
0001 | —— Timer On Delay EN De=—
0 Timer T4:1
Bul.1764 Time Base 1.0 DN De==
Preset 10<
Accum 10<
- TIMER ENABLE
T4:1 0:0
0002 === == —
EN 0
Bul.1764
- TIMER TIMING BIT
T4:1 0:0
0003 1 £ P
TT 1
Bul.1764
- TIMER DN DONE BIT
T4:1 0:0
0004 — —m== == —
DN 2
Bul.1764
 ACCUMULATED_VALUE_
MOV
0005 Move
Source T4:1.ACC
10<
Dest N7:0
10<
MOV
0006 Move
Source N7:1
10<
Dest T4:1.PRE
10<
T4:2 TON
0007 = fe== Timer On Delay E(EN)-—
DN Timer T4:2
Time Base 1.0 —(DN>—
Preset 10<
Accum 7<
B3:0 TON
0008 = == Timer On Delay E(EN)-—
0 Timer T4:3
Time Base 1.0 —(DN>—
Preset 10<
Accum 7<
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TIMER CIRCUT

LAD 2 - =--- Total Rungs in File = 13
EQU B3:0
0009 Equal D
Source A T4:3.ACC 0
7<
Source B 10
10<
I:0 0:0 B3:0
0010 | — == = — e )
1 3 2
Bul.1764 Bul.1764
0:0 B3:0
i F—==C
3 3
Bul.1764
B3:0 B3:0 0:0
0011 1 E 2t D
2 3 3
Bul.1764
0:0
1 E
3
Bul.1764
0012 CEND >—
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